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(2) Hik—: Agikmax{a,b,c}=a, FANa+b+c=0,abc=1, FrLA

a>0,b<0,c<0, a=(—b)+(—c)22\/1;=2\/1. Wa' >4, 0243, HERERRL.
a

R 12I, 15|



(AR (1) [iE—1 (RiRRR): Ebeisx

(a+b+<:)1 =a’+b" +c” +2ab+2ac+2bc=0,

.'..:rb+.bc+ca=—l(a1 +b° +r:3).
2

cabe=1..a.b,c N0, Mg +p +2 50, -'-ab"'bf-""ff'ﬂ:—%(al‘*bz"'fz)(()'

[(FmE=] B

a+b+c=07b=—(a+c), M

Py

ab+bc+ca=b(a+c)+ea=—(a+c) +ac=—(a’+ac+c’) =—(a+~]_ __:g;fz <0,
a=b=c=00{F5,
Xabe=1, Jbhab+bc+ca<0.

[(HE=]: B4

HR 1 HERa=0,a+b+c=0,a=—(c+b), a’ =(c+b) =¢* +b* +2cb > dbc ,

ab+be+ea=a(b+e)rbe =" +be <o+ % =3 0, wEERmiE.

HR2: WHNa+b+ec=0,
fia'ﬂ?iﬁ:(ad—fﬂ-c]1 =g’ +b° +¢c* +2ab+2bc+2cu

%[("2 +87) +(b* +¢%) H{ * +a) |42 ab+2 be 42 ca

> %(2ab+ 2bc +2ca)+2ab +2bc+2ca =3(ab+bc+ca).

Blab+bc+ca<0, HHNMa=b=c=06RF5,

Xabe=1, Fiblab+bc+ca<0.

[N ]

FAa+btc=0,abc=1, filla, b, c BHHMAEM -PNEL,

Agiga<b<0<clla=—(b+c), .ab+bc+ca=bc+a(c+b)=bc—a’ <0,
[HEL] FIARSEMER

HX 1: 6b=—(a+c), 4 f(c)=ab+bc+ca=—c"-ac-a’,
“REFEMFARIFOMT, Xabe=1, Brila=0,
HAKA=a’-4a"=-3a" <0, ER,

BERE 130, JLIsm

4 ELAR



